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Derivera

α. 2x3 − 5x2 +
3

x
,

β. x3(x2 − 1)2,

γ.
x

1− x2
,

δ.
3x+ 1

x5
,

ε. 3
√

x,

ζ .

√

x
√

x
√

x,

η. ex(x2 + 2x− 2),

ϑ. x cosx,

ι. x ln x− x,

κ.
1

ln x
,

λ. (ax+ b)n,

µ. sin3 x,

ν. sin 3x,

ξ. ln(sin x),

o.
1

(1 + x2)
√

1 + x2
,

π.
√

x+
√

x,

̺. ln
1− x

1 + x
,

σ. ln tan(
x

2
+
π

4
),

τ .
1

a
arctan

x

a
,

υ.
√

2

√

1 + x2
,

υ. ex ln x,

ϕ. xx,

χ. xsin x,

ψ. (x3 + x)arctan x.
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Svar(förhoppningsvis kor-

rekta...)

α. 6x2 − 10x−
3

x2
,

β. x2(7x4 − 10x2 + 3),

γ.
1 + x2

(1− x2)2
,

δ. −
5 + 12x

x6
,

ε.
1

3
3
√

x2
,

ζ .
7

8 8
√

x
,

η. ex(x2 + 4x),

ϑ. cosx− x sin x,

ι. ln x,

κ. −
1

x(ln x)2
,

λ. na(ax+ b)n−1,

µ. 3 sin2 x cos x,

ν. 3 cos 3x,

ξ. cot x,

o. −
3x

(1 + x2)
5

2

,

π.
1 + 2

√

x

4
√

x2 + x
√

x
,

̺.
2

x2 − 1
,

σ.
1

cosx
,

τ .
1

a2 + x2
,

υ.
x ln 2

2
√

1 + x2

√

2

√

1 + x2
,

ϕ. xx(1 + ln x),

χ. xx(1 + ln x),

ψ. xsin x(
sin x

x
+ cosx ln x),

ω. (x3+x)arctan x
(

x ln(x3 + x) + (1 + 3x2) arctanx

x(x2 + 1)

)

.
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